RIEE MEHRZELE7TAHTIE—K=

2EEFR’—T 1FEEFR)—D
AT IL—T ADI—T
A B & C D - A B it C -
mEGx | B = | mm | RE milRs | & me | JRAL
A X X O 3 A
o e sk 14—28 | 7—17 | 20—0 |d%m—o) | [42LRS X1—45 | x5—36 3
B O X X 2 B O X )
e [D28—14 14—28 | 12—7 | @B&s+9 & | @45—7 5—24
C O O O 1 c O 1
FEl | ®17—7 | @D12—7 22—17 5 | 36—5 | 024—5
D X O X 4
W | @30—20 [®17—12| ®7—22 (8% 15 —30)
BUIN—T B IN—T
E F G /N " D E F L
& =3l ILIRS Iz -5 | mEGR b Tic] N oz
E O X 9 D O X 2
& 29—0 | 12—17 s E | 0—26 19—0
= X X 3 E O O 1
=% | @0—29 0—22 mEsR | (26—0 50—0
G @ QO 1 F X x 3
WIIRS |D17—12| 22—0 W | (90—19 | ®0—50
2FE RN —F AN V1EFEERBN—F XIS
PO [E bR 1 mEGR MmES R 1 MEFR
21 | 14 2 5L 5 | 19 2 B
PO E o mE 3 FIN mE mEGLE 3 L&
28 3 ¥AIURS 29 3 ¥ALLURS
5 12 12 7 43 0 0 45
= C rEex @B il Fy=) & W | ST
22 23 24 25
5 24 10 19 10 17 15 24 19 21
16 17 18 19 20
Al | B2 |3§I B3 | A2 | A4 | B1 Al | B3 | A2 T%ZEH A3 |1§I
= 2 = Vet JAN 4da : 22 = I\
21 26
=0 V15 4z} V15 4z} BB
27 12 21 14 | 19
& b1 | S-F
7 | 17
b7z}
Sl 2 cera N
%Jgu 7 n-l- gnitl:I 1 7Eité %EU 7 n+ 6nitl:l 1 ZEE\:’%

REE—F A b

it sita

1F—L&xE 6E

BiE 4HA

REEL—F AL &t 6EE
1F—Lkxes 5HEA &IE 3HSE






